Answers to Exercises A37

Exercise Set 6.6 (page 399)
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True/False 6.6
(a) False (b) True  (c) True (d) False (e) True

Chapter 6 Supplementary Exercises (page 399)
1. @) (0,a,a,0) witha # 0 (b)i(O,%,%,())

3. (a) The subspace of all matrices in M», with zeros on the main diagonal.
(b) The subspace of all 2 x 2 skew-symmetric matrices.
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Exercise Set 7.1 (page 407)
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1. (a) Orthogonal; A~ = [(1) _(1)] (b) Orthogonal; A~ = |: ‘/f \f:|
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21. (a) Rotations about the origin, reflections about any line through the origin, and any combination of these
(b) Rotations about the origin, dilations, contractions, reflections about lines through the origin, and combinations of these
(¢) No; dilations and contractions
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True/False 7.1
(a) False (b) False (c) False (d) False (e) True (f) True  (g) True  (h) True



A38 Answers to Exercises

Exercise Set 7.2 (page 416)

1. A2 — 51 = 0; A = 0: one-dimensional; A = 5: one-dimensional

3. A3 — 312 = 0; A = 3: one-dimensional; A = 0: two-dimensional
5. 2% — 813 = 0; A = 0: three-dimensional; » = 8: one-dimensional
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True/False 7.2
(a) True  (b) True (c) False (d) True (e) True (f) True  (g) True
Exercise Set 7.3 (page 427)
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